IMMACULATE CONCEPTION COLLEGE,

170, M.M. WAY, BENIN CITY

ENTRANCE EXAMINATION 2014/2015 ACADEMIC SESSION

SUBJECT:  ENGLISH LANGUAGE
CLASS:  JSS.1

TIME:  1 HOUR 20MINS.
SECTION A:  OBJECTIVE QUESTIONS – Answer all questions. (30 Marks)

INSTRUCTIONS:  Read the following passage carefully and answer the questions on it.

A single rocket is not powerful enough to send a spacecraft into space.  This is because the amount of fuel a single rocket can carry, is not enough to supply the necessary amount of power.  To get enough fuel and power to last till the spacecraft gets out of Earth’s gravitational pull, a number of rockets are needed.  These rockets are linked one atop the other, looking much like a giant light house.  Together they form a multistage rocket.  The spacecraft lies at the top of the multi-stage rocket.

The first stage of a multi-stage rocket is called the booster.  It is the biggest as it has to lift the whole rocket system from the ground.  The booster helps to lift the rocket over the thick region of the atmosphere.  When the fuel of the booster is used up, it separates from the rest of the rocket and drops to Earth.  When this happens, the second stage fires and propels the rocket.  This second stage, having used up its fuel, just like the booster separates and falls off.  The third stage to which the spacecraft is attached then fires.  It carries the spacecraft into space.  When the third stage uses up its fuel, it too falls off.  The spacecraft is then left to travel to its destination on its own power.
1. Why is it difficult for a single rocket to send a spacecraft to space? (a) Because it is too small but powerful                         (b) Because it is not powerful enough and the amount of fuel it can carry will not be enough to supply the power needed (c) Because the fuel must last for a long time (d) Because the spacecraft is too heavy
2. What type of rocket is needed to get a spacecraft out of earth’s gravitational pall? (a) a multi-stage rocket (b) two rockets (c) three rockets (d) a number of rockets
3. In what position is a spacecraft in a multi-stage rocket? (a) In the middle of the multi-stage rockets (b) At the top of the multi-stage rockets (c) At the bottom of the multi-stage rockets (d) Near the lower part of the multi-stage rocket
4. What is the work of a booster in a multi-stage rocket? (a) It helps to lift the whole rocket system from the ground (b) It helps to break the multi-stage rocket (c) It helps to shield the multi-stage rocket (d) It helps to fuel the multi-stage rocket
5. How many stages are involved before the space-craft is left on its own to travel into space?  (a) four stages (b) two stages (c) three stages (d) many stages
Section B:
From the alternatives lettered A – D, Choose the word that is same in meaning with the underlined word.
6. Two things amazed him when he got to America (a) annoyed (b) hated (c) surprised (d) hit
7. Ade was excited about his admission. (a) happy (b) unhappy (c) puzzled (d) interested
8. There is genuine love among all members of the family (a) real (b) wonderful (c) good (d) high
9. People came into the house to welcome him and admire the new car (a) hate (b) see (c) wonder at (d) appreciate
10. The old and infirm were rescued first before the others (a) young (b) happy (c) sad (d) sickly
Section C:
From the alternatives lettered A – D, choose the word that is opposite in meaning to the one underlined 
11. The judges whispered while the court was in session (a) talked (b) shouted (c) smiled (d) cried
12. His wages was reduced as a result of his laziness (a) halved (b) increased (c) lessened (d) denied 

13. The man bought his bride some expensive jewels. (a) cheap (b) beautiful (c) costly (d) golden
14. The old begger was advised to pick up some employment (a) young (b) female (c) male (d) handsome
15. The men are dancing inside the palace (a) within (b) beside (c) under (d) outside
Section D:
From the options lettered A – D, choose the word or group of word that best fills the gaps in the following sentences.
16. Jane has----my new dress (a) tear (b) tore (c) torn (d) thorn
17. The police----the boy who stole the money (a) find (b) are finding (c) may found (d) will find

18. Bola----Abu will sing at the party (a) but (b) either (c) nor (d) or
19. She said she cannot wear the clothes----it dries (a) since (b) until (c) although (d) either
20. The tea is----hot----cold (a) neither/or (b) either/or (c) neither/nor (d) either/nor
21. Mary was----ill, she could not go to school (a) so (b) unless (c) very (d) neither
22. They knew all about my friend and----(a) me (b) I (c) they (d) he
23. I asked him for----ink, and he gave me---- (a) some; any (b) any; some (c) some; some (d) an; some
24. I haven’t seen you----Christmas (a) since (b) before (c) for (d) during
25. He said he didn’t fear death----? (a) didn’t he (b) wasn’t it (c) doesn’t he (d) did he
26. That load is----heavy for a child to carry (a) very (b) so (c) most (d) too
27. The last book is the----interesting one (a) very (b) much (c) most (d) more
28. Okoro stole John’s belt, didn’t he?  Yes, he----(a) didn’t (b) did (c) does (d) doing
29. Please, call the man----red shirt (a) in (b) on (c) with (d) inside
30. Have you any money----you? (a) on (b) in (c) with (d) within
31. My parents love----(a) themselves (b) each other  (c) theirselves (d) one another

32. I was congratulated----my admission into Immaculate Conception College (a) on (b) for (c) in (d) because

33. My mother bought a play station for---- (a) I (b) they (c) them (d) we

34. Your shirt is the same colour as----(a) he’s (b) me (c) her (d) his

35. Please share this orange----the three boys (a) between (b) among (c) into (d) for
Section E:

There are three sentences in each of the following questions.  Read them carefully and choose which one should come first, which one second and which one third.
36. 1. She had a fever

2. The doctor examined her

3. She went to the clinic

(a) 123 (b) 132 (c) 321 (d) 132

37.  1. She took the measurements
2. She made a dress

3. She wore the dress

(a) 123 (b) 231 (c) 321 (d) 213
38. 1. He boiled some water
2. He put on the stove

3. He poured into a bowl

(a) 231 (b) 321 (c) 213 (d) 123

39. 1. They swept their classroom
2. They went for the morning assembly

3. They arrived in school

(a) 312 (b) 321 (c) 213 (d) 123

40. 1. The teacher flogged them
2. They were late to school

3. The teacher was angry with them

(a) 123 (b) 321 (c) 231 (d) 132

Section F:
In each of the following items pick the one that does not belong to the group.
41. (a) wicked
(b) cruel

(c) unkind

(d) meek

42. (a) large
(b) gigantic

(c) enormous

(d) minute

43. (a) hiss
(b) bray

(c) paw
(d) mew 

44. (a) chicken
(b) biscuits

(c) doughnuts

(d) sausage

45. (a) dove
(b) ostrich

(c) eagle

(d) hawk

Section G:

The words below are written in codes.  Study each word and its code word carefully and work out how the code is written

Example:


FIFTY is written as FYFTI


BELOW is written as LWBOE


LEAST is written as ATLSE

Now, use the pattern to answer the following questions.
46. The word FRONT would be written as (a) NOTRF (b) OTFNR (c) RTNFFO (d) OTFRN
47. The word PEACE would be written as (a) ACEPE (b) APEEC (c) AEPCE (d) ECAPE
48. The word COURT will be written as (a) OTRUC (b) ROTCU (c) RTCOU (d) UTCRO
49. The word BEACH will be written as (a) AHBCE (b) HEACB (c) CEBHA (d) HBCAE
50. The word WHITE will be written as (a) TEWHI (b) WHTIE (c) IEWTH (d) HEITW
Section H:

From the options choose the correct spelling of the word
51. (a) bisness (b) business (c) bizness (d) business
52. (a) library (b) libry (c) laibry (d) liebry
53. (a) Jelosy (b) Jelousy (c) Jealousy (d) Jelusy
54. (a) cementry (b) cemetry (c) cemetary (d) cemetery
55. (a) privilege (b) priviledge (c) privelege  (d) previlege 
Section I:
In the following questions, some statements are made.  Consider each statement very carefully.  Choose 
(a) If the statement is always true; (b) if it is sometimes true; (c) if it is never true and (d) if you are undecided.
56. Women are taller than men     (a)  (b)  (c)  (d)
57. Trees are living things    (a)  (b)  (c)  (d)
58. Some living things do not breath     (a)  (b)  (c)  (d)
59. Soap is made from oil     (a)  (b)  (c)   (d)
60. Living things reproduce.    (a)   (b)   (c)  (d)
Part 2:

                                                                     Answer all questions.
Section A:

Composition (30 marks)

In not less than ten (10) sentences, write a composition on the topic.

“The Person I Like Best in my Family.

You may use this guideline / outline

· Introduce yourself

· What is the name of the person you like best in your family?
· How is the person related to you?

· What does he/she do for a living?
· Describe the person (physically)

· Write about the character (behaviour) of the person
· State the reasons why you like this person most in your family

Section B:

Comprehension (28 marks)

Read the following passage carefully and answer the questions on it.

His name was Fleming, and he was a poor Scottish farmer.  One day, while trying to make a living for his family, he heard a cry for help coming from a nearby bog.  He dropped his fools and ran to the bog.
There, mired to his waist in black muck, was a terrified boy, screaming and struggling to free himself.  Farmer Fleming saved the lad from what could have been a slow and terrifying death.

The next day, a fancy carriage pulled up at the Scotsman’s poor surrounding.  An elegantly dressed nobleman stepped out and introduced himself as the father of the boy Farmer Fleming had saved.

“I want to repay you,” said the nobleman

“You have saved my son.”

“No, can’t accept payment for what I did,” the Scottish farmer replied waving off the offer.  At that moment, the farmer’s own son came to the door of the family hovel.

“Is that your son?”  The nobleman asked.

“Yes,” the farmer replied

“I’ll make you a deal.  Let me provide him with the level of education my own son will enjoy.  If the lad is anything like his father, he’ll no doubt grow to be a man we both will be proud of.  And that he did.  Farmer Fleming’s son attended the very best schools and in time, graduated from St. Mary’s Medical School in London, and went on to become known throughout the world as the noted Sir Alexander Fleming, the discoverer of penicillin.

Years afterwards, the same nobleman’s son who was saved from the bog was stricken with pneumonia.  What saved his life this time?  Penicillin.

The name of the nobleman?  Lord Randolph Churchill.    His son’s name?
Sir Winston Churchill.

Someone once said: “what goes around comes around.”

1. What did the farmer do to make a nobleman visit him?

2. What did the nobleman do to show his gratitude to the farmer?

3. What is the name of the nobleman’s son?

4. What is the name of Farmer Fleming’s son?

5. What did he do that made him famous?

6. Who did penicillin save in this passage?
7. What was the profession of Farmer Fleming’s son?
8. “What goes around turns around.”  What do you think this expression means in light of the story in the passage?

Section C:  (12 marks)
Fill the gaps in the table with the appropriate form of each noun.

	No.
	Singular
	Plural

	1.
	Boy
	-----------

	2.
	--------
	Trousers

	3.
	--------
	Thieves

	4.
	--------
	Ladies

	5.
	Sheep
	-------

	6.
	Loaf
	-------

	7.
	-------
	Mice

	8.
	Tomato
	-------

	9.
	Monkey
	-------

	10.
	Baby
	-------

	11.
	Child
	-------

	12.
	-------
	scissors
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